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Ex. 1  2 50 
? 



Sol.  =
= 2

50 = 25 Hz 
Ex. 2 50 50 0.5 
Sol.  1 1  = 1 

 50 50 = 50 
 , ,  = 

= 5.0
50 = 100 Hz 

Ex. 3 330 m/s 
550 Hz  ? 

Sol. , v = 330 m/s, 
,  = 550 Hz 

 , = 
v  = 550

330   = 0.6 m 

Ex. 4 
1.7 × 10–2 m 

343.4 ms–1

Sol. 
v =  ×  

,  , v = 343.4 ms–1 
 = ?

, = 1.7 × 10–2 m 
: 
343.4 =  × 1.7 × 10–2 

= 2107.1
4.343


= 7.1
104.343 2 = 2.02 × 104 Hz 

2.02 × 104 hertz. 
Ex. 5 0.05 s,  8m 

(i) 

(ii) 
200 Hz 

Sol. (i) , 
v = = s05.0

m8   = 160 m/s 
(ii) 

 ,  = 
v   = Hz200

s/m160   = 0.8 m 
0.8 m  

Ex. 6 20 Hz 20 kHz 

? 
340 m/s. 

Sol.  :  v1 = 20 Hz, V = 340 m/s 
 1 = 

1
v
 = 20

340  = 17 m 
v2 = 20 kHz = 20,000 Hz, v = 340 m/s 

  = 
2

v
 = 000,20

340  = 1.7 × 10–2 m = 1.7cm 


17 m  1.7 cm. 
Ex. 7 

30 cm/s 

? 
Sol. , v = 30 cm/s 

, v = 20 Hz 


 = 

v  = Hz20
s/cm30  = 1.5 cm 



Ex.8  200 Hz 
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H D 

(i) 
(ii) 
(iii) 

Sol. (i)  = = 10 cm 
(ii)  = = 40 

cm 
(iii) , n = 2 Hz

,   = 40cm = 0.4 m 
 ,   v = v= 200 × 0.4 m/s 

= 80m/s  
Ex. 9 44.1 m 

3.13

Sol. 

s = ut + 2
1  gt2

 s = 44.1 m, u = 0, g = 9.8 m/s2 
  44.1 = 0 × t + 2

1  × 9.8 × t2 

t2 = 8.9
21.44   = 9 

t = 3 s 

t2 = 3.13 – 3 = 0.13 s 

=  = s13.0
m1.44  = 339.2 m/s 
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= d 
( ) = v 

 = t 
,  t = v

d2  or  d = 2
vt

25ºC  = 343 ms–1 
, 

t 0.1 s 
d  2

s1.0ms343 1 

d 17.2 m 

( 25ºC ) 
17.2 m . 

25ºC 17.2 m 

17.2 m

 ( ) 

(reverberation) 
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Ex. 10  3 
340 m/s 

? 
Sol. d 

= 2d 
, 

 v = = t
d2

 340  = 3
d2

 d = 510 m 
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Ex.11 

4 
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( =  1500 m/s.) 
Sol. 

4 

22
4 

2 
, 
,  21500 
,   =  1500 × 2m  =  3000m 



 Edubull

Ex.12 

1.02 s 
1531 ms–1

? 
Sol. : , V = 1531 ms–1, 

t =  1.02s 
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

(i) 

(ii)  

 

OA OB 

(sonic boom) 

(shock waves) 

B

O

A


 

(a) : 



 2 3 

( ) 

(
)

(b)  : 
( ) 

( ) 

(
) 

P 

: 








